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Which subsets of R3is linearly independent ? (i) {(1,0,0), (0,1,1),(0,0,1), (1,2,3)};
(i) {(1,1,1), (2,3,4), (4,9,16)}; (iii) {(1,2,1), (=3,8,1),(3,—1,—1)}.

R (W07 @& SALaf @RFer@ @2 (i) {(1,0,0),(0,1,1),(0,0,1), (1,2,3)};
(i){(1,1,1), (2,34), (4,9,16)}; (iii) {(1,2,1), (-3,8,1), (3,—1,—1)}.

Find the dimension of the subspace V = {(x,y,z):x +y +z = 0;x,y,z € R} € R3.



10.

11.

12.

R3MCT V ={(x,y,2):x +y+2z=0;x,y,z € R} Cc R® (6B OAW(Id J@T N I |
Let o, B,y are distinct vectors in a vector space V. Which of the following one is true ?

@ L{aByh) =L{a,a+B,a+B+y};0) L({a,B,v}) EL{a,a+ B, a+ B +v});

© L{a,B,v}) 2 L{a,a+ B, a+ B +v}); (d) None of these.

HE (@3 I@F V(©Dd (T a, B,y 2 fodfc [{fery (e faws @@l sy ?
@L{a B v) =L{a,a+B,a+ B +7v}); O)L{a,B,v}) € L{a,a+ B, a+ B +v});

©L{a,By}) 2L{a,a+B,a+ L +y)); (d) AT (FE6R AT
Find the dimension of the subspace S = {(x,y,z,w):4x +y+z—w = 0 = 3x —w}in R*.

RY*CTS = {(x,y,zw):4x+y+z—w =0 = 3x — wlO®ST OAWCIE Jal JHd FF|
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What isthe rank of thematrix (1 2 0 5 3)?
2 4 0 10 6
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Find the matrix of the linear transformation A: R? — R? in given R? by
A(x,y) = (4x — 2y, 2x + y)with respect to the basis {(1,1), (—1,0)}.

R%Z (90T A(x,y) = (4x — 2y,2x + )&l w8 (Jf4F FA@T A:R? > R2a7
{(1,1), (-1,0)} fefs o i faef@a s
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Find the eigen values of the matrix A = (

(1 3
Let4A = (4 5
If B = P~1AP, then find P.

) and Bis the diagonal matrix with eigen values of A as diagonal elements.

&I@(?{G?JTWA:(}L g)ﬂa:Baar% Fof BT TF Fefd AT 7T A 97

RS Fsfel I B = P1AP, ORE P fAH@d FF

Find the associated symmetric matrix for the real quadratic form
3x?% + 4xy — y% + 8xz — 6yz + z°.
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gwe faEe SPfe 3x2 + 4xy — y? + 8xz — 6yz + 2297 FIfde et MEFRT THe
PPA|
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The matrix ( 1
semi- definit.

;) is (a) positive definite; (b) positive semi- definite; (c) negative definit; (d) negative

(i %) TEAT (a) $HF AW ASNE; AFES; (b) T -6 I

(©)INHF g (d) dows  IJf-fafvg IFET|

The matrix (_f _;

(d) negative semi- definit.

) is (a) positive definite; (b) positive semi- definite; (c) negative definit;

(_2 _;) MEHT (a) ¥=F AUg AFET;(b) ¥aas a-Amg INF1E;

(©) INHF g IFEF; (d) dTaF  FE-Afvg IMFEF|

Determine the nature of the conic of the equation 2x? — 4xy + 5y% = 6.

F7e STNFAT 2x2 — dxy + 5y = 6 97 TFHA IPfe Td@T FF4|



